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Topic:- General Knowledge and Logical Knowledge

1) P.T Usha is associated with / .S 3’\“@ \‘{Eﬂ §€ %
1. Football / WVW

2. Athletics / TYaifce

3. Cricket / fohape

4. Tennis / <9

Correct Answer :-

« Athletics / TUAfeaT

2) In which state was the Kohinoor first found? / {5 Ie0 & Ugdll IR 35“%713' e ur?
1. Andhra Pradesh / 3118 UG XI

2. Odisha / SIS

3. Madhya Pradesh / H¥] LR

4. Jharkhand / SIRTS

Correct Answer :-

o Andhra Pradesh / 318 EIQ'QT

3) Who is the founder of the concept “Sarvodaya”? / «Taiear ATYRUN & TRATIP B %?
1. Jayaprakash Narayan / SIOYR IR ARTIUT

2. Mahatma Gandhi / HeTHT el

3. Vinoba Bhave / faIaT H1d



4. K.G.Mushroowala / & 1. HTRReATd

Correct Answer :-

e Mahatma Gandhi / HeTHT el

4) In tossing of two coins simultaneously, what is the probability of getting two tails? / &l Ryl &t Udh

1Y IDTAA W, & GEUNT (o) 31 &1 uiiewar fa-t 32

1
4

Lid | b2

(-

bt | —

Correct Answer :-

L
4

5) Maheshwar is a temple town and it is located on the banks of river -/ 'FI%‘HT Udh 'Flﬁﬁ Ca|

MR B 3R U TA P de R R@ I
1. Narmada / THaT

2. Tapti / TG

3. Betwa / Sddl

4, Chambal / I&d

Correct Answer :-

e Narmada / '_'ﬁ:fa'[

6) Which of the following cities is called ‘City of lakes’? / faddsaan AR 'Eﬂ?ﬁ DI R Pl
AT 32

1. Son/;n_"f



2. Ujjain / 314
3. Bhopal / T

4, Ratlam / Idd™H

Correct Answer :-

« Bhopal / T

7) The water source for the Shree Singaji Thermal Power Project is from / ot RiTTeft Y yrar

g & fore oid &1 W d G

1. Indira Sagar Reservoir / R YR SR

2. Tawa Dam / ddl EIE)
3. Madikheda Reservoir / ATSHST STATRI™

4. Amba Dam / 3iaT 7Y

Correct Answer :-
« Indira Sagar Reservoir / faRT AR SRR

8) Seven paint boxes are arranged in a row. The yellow box is to the left of the red box. The green box is
between the blue and pink box. The black box is on one of the extreme. The white box is to the left of the
black box. The blue box is to the right of the red box. Which box is to the right of the pink box? / HTd [
BT 951 B U Ufaa H rafeua favar wan 8 | fem a9 ara 999 & a1 31 897 g, ar iR
AT IR & §H | g1 BT IR i DR R | Glhg 99T HTd 999 & 91¢ @ | Htar 9991 e
I & SR ¥ 1 D1 T 971 el g & it 3R 82

1. White / Th¢
2. Red / dId
3. Black / SBTdl

4. Green /3l

Correct Answer :-

« White / G0 ¢

9) The largest Open University in India is ./ HIRd # 999 98T Hod fayfaemeg (GﬁTF'T
gfaRid 2

1. UP Rajarshi Tandon Open University / 3.9 ISy <& Gad fayfaemed
2. Indira Gandhi National Open University / 3' Ié?l Tieft ?T@'q Had ﬁ%ﬁw



3. Andhra Pradesh Open University / 318 qex Had fayfaarme
4. Madhya Pradesh Bhoj Open University / H& TG Hisl Had fayfaemer

Correct Answer :-

« Indira Gandhi National Open University / § faxT il Tl'gﬁ'q Had fayfasmera

10) If the day-before-yesterday was Thursday, when will Sunday be? / gfe did gy Phdd & q\?f fem
TREGR YT, a1 IfAIR Fd ghm?

1. Day after tomorrow / ¢l & gyTd feq (CR@)
2. Tomorrow / ¢l
3. Today / 3119l

4. Two days after today / 3{TST & ql fa=1 T

Correct Answer :-
e Tomorrow / hcl

11) If KRISHNA is coded JOHRGMZ, then how is ESHWAR coded? / GG KRISHNA & JOHRGMZ |

difed forar ST 8, O ESHWAR B $Q Sifed frar s
1. DRIVZQ

2. DRGUZQ

3. DRGVZQ

4. DTGVZQ

Correct Answer :-
e DRGVZQ

12) If PAPER is coded SCTGW, then how is MOTHER coded? / Gf& PAPER &Y SCTGW A Bifsd fpar

SITdT 8, Y MOTHER &) &9 Sifed foear sram?
1. ORVLGW

2. POVIGT

3. POXKJV

4. POXJIT

Correct Answer :-



« POXJJIT

13) The Constitution of India originally comprised of ./ HRd & Ifqur & Hdd:

ITBE Y |

1. 444 articles / 444 3¢
2. 448 articles / 448 TEE
3. 401 articles / 401 TEE
4, 395 articles / 395 Glﬂ%?{

Correct Answer :-

e 395 articles / 395 317:1%_({

14) The Constitution of India was amended for the first time in / HR 1 SIAYUTT A geq ggdl MY
e o fapa ar ur?

1. 1955
2. 1951
3. 1954

4. 1958

Correct Answer :-

e 1951

15) If TWENTY is coded TWEYTN, then how is MAGAZINE coded? / 4f¢ TWENTY &I TWEYTN ¥
HIfSd fHaT STdT 8, Y MAGAZINE &1 B Bifed foar s

1. MAGENIZA
2. MAGAENIZ
3. MAGAZENI

4. AGAMZINE

Correct Answer :-

« MAGAENIZ

16) India’s first Electric Mass Mobility System was launched in city’s airport complex. / HRd

P} Ugeht goifae W Tferfrer sromedt TMET & FATSIFT URER | IR= B1 778 A



1. Chennai / %ﬂ's“
2. Surat / JId

3. Nagpur / YR
4. Bangalore / SR

Correct Answer :-

« Nagpur / YR

17) Who was appointed the Secretary of the Central Board of Secondary Education (CBSE) In May,

20177 / W3 2017 § =g ureafte Rien a1 (@diews) & afta & w0 d f63 fFrge far man ur
1. UK Sinha / g & R8T
2. Anil Goswami / 3ff=1cf TIRGTHT

3. HS Brahma / Ud TF §&ll
4. Anurag Tripathy / ST Aurdt

Correct Answer :-

o Anurag Tripathy / 3R Aurdt

18) In a certain code language, lee levi pepe means all wear denim, pepe uno sf means wear only pants,
uno lee killer means all pants tear. Which is the word for /evi in that code language? / T WTH PIS HTHT
ﬁ, lee levi pepe DT 3 f all wear denim, pepe uno sf P13 & wear only pants, uno lee killer ®T 3 f anl pants

tear BT 8 | S BIS T H fevi & T 5w 21eg &1 gdum@ forar mam 32
1. denim

2. all

3. pant

4., wear

Correct Answer :-

o denim

19) In a row of boys, Rajan is sixth from the left end and Vinay is tenth from the right end. If there are
eight boys between Rajan and Vinay, then, how many boys are there in the row? /asﬁ &t Udh ufed ﬁ,
o 9T SR A Todi § 3R O qre ok @ gwai €1 g 7o SR fa7g & i ofe @ 8,
U # fpa @ &2

1.24



2.23
3.26

4. 25

Correct Answer :-
e 24

20) The states of India which are bounded by Arabian sea on the west are / Uf3W H 3RE YRR & 1Y

T HRA & T PH-HI A G2

1. Tamil Nadu and Odisha / df8cl qarg 3R SffE=m
2. Rajasthan and Kerala / XTSTRITT 3R IR

3. Karnataka and Maharashtra / W ShT IIERTE

4. Maharashtra and Punjab / FERTY 3R UGTel

Correct Answer :-

« Karnataka and Maharashtra / (¢ 3R HeRTY

21) Bada Mahadev and Chota Mahadev are temples located near / 95T 'FIB'I%H 3R BT TI?'I%H HfeR
& U R &

1. Ujjain / S
2. Bhojapur / 'l-nTrlgT
3. Narsinghgarh / R [

4. Mandu / ATg

Correct Answer :-

e Narsinghgarh / R [

22) Find the odd one out: / T faww 3@ Hﬂ'ﬁl’l’{:
1. Kid / d=dl

2. Puppy/ﬁc'_ﬁﬂ

3. Lamb / HHAT

4, Dog / ol

Correct Answer :-



e Dog/ Pl

23) Kanha is well known for its Bk Eac! & fo ST STaT 21
1. Museums / W
2. Cave art / [T b cll

3. National Park / TI'EQQPI REIEI
4. Sculptures / E%CIT

Correct Answer :-
 National Park / TI'EQQPI REIEI

24) Who became the first Indian to win a gold medal in the International Fencing Tournament? /

$eRE BRI gAfde # ol ugs sfiae ard Ugd WIRdIa &1 a92
1. Sehajpreet Singh / Fgordtd Rig

2. Karan Singh / 01 &g

3. CA Bhavani Devi / ¥1.¥ 4aT-ii &t

4. Siva Magesh / T1a 4721

Correct Answer :-

e CA Bhavani Devi / ?ﬁ.q YT gt

25) Chitrakoot waterfall is formed on the river ./ ﬁﬁlﬁ Slietqurd
T W fRa 3

1. Ken / &+

2. Chambal / ISd

3. Narmada / THaT

4. Indrawati / FI1dqt

Correct Answer :-

e Indrawati/ ga'la?ﬁ

26) Select the option that is true about the Statements and Conclusions given:
Statements:
No breads are butter



No buns are bread
Conclusions:

I. All buns are butter

II. Some bread are butter

| 39 faweq &1 7= ST WP T 7T =T 3k el & ar 7 98 &:
BY;

BIE NS HRE T8 @

FETAISTE

e
L. I s AgE §
II. $O 98 a8

1. both conclusions I and II follows / ﬁ'@lﬂh 3%? II aﬁ STTIRUT a”_{ﬁ %

2. only conclusion II follows / Had Ty 11 STTIR0T hdl g

3. only conclusion I follows / Pad &Py 1 S{TERUT hdT %

4. neither conclusion I nor conclusion II follows / - éjf sy | \31:1'\7 El é’r sy 11 ST HIA %

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 &1 f5pY 1 3R 7 & fAsp 11 SR PRAT

27) Select the option that is true about the Statements and Conclusions given:
Statements:

Some marriages are associations

Some marriages are not engagements

Conclusions:

I. All engagements are associations

I1. All associations are marriages

| 39 APy 31 9= FiforE Sife faw e Y=Y oix fAspul & IR A I8 8:
DY:

7o fdaE e §

%o faare sy T8 @

e

I 9t gy WeA &

I1. 9} Iire+ faare @

1. both conclusions I and II follows / FT&HH 1 3R 11 &I SR IRA G



2. only conclusion II follows / Pad ey 11 STV hdl g
3. only conclusion I follows / Had pY 1 STV hdl g
4, neither conclusion I nor conclusion II follows / - éT ﬁ'@mfl G'ﬁT - Eﬁ ﬁ'ﬁlﬂf 1T 3{TR0T I %

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / - Ezpf ﬁWﬁf I Gh'\" - Ezpf ﬁWﬁf 1T 3FIRT HId %

28) Select the option that is true about the Statements and Conclusions given:
Statements:

Some detergents are soaps

All soaps are powders

Conclusions:

I. Some detergents are powders

I1. All soaps are detergents

/ 39 faweu &1 7 IR Sife e e syt ok frepsf & ar & Od 2:
YA

o fSesic ag 8

Tt I TeeR ©

fep:

I $5 el T &

11. 9} |rgA fEesie §

1. both conclusions I and II follows / FT5HY 1 3R 11 G SIIERUI Hd &

2. only conclusion II follows / Had fSHY 11 SFIHRUT Xl §

3. only conclusion I follows / Had fHY 1 SITRVT HT §

4. neither conclusion I nor conclusion IT follows / 7 &1 fsaw 1 3R =1 €t fAsepef 11 ST FRA G

Correct Answer :-

« only conclusion I follows / Had [T5HY [ STIRVT BT &

29) The Dachigam Wildlife Sanctuary is in / EliﬂﬂTq ToIg AHIRUY fA= o9 A T %:
1. Jammu & Kashmir / ST T HRUR

2. Himachal Pradesh / FE?W e

3. Karnataka / Hlcdh



4, Assam / 3HH

Correct Answer :-

e Jammu & Kashmir / \_SITELQH HIR

30) If MOTHER s coded LNSGDQ@, then how is GRANDSON coded? / afed MOTHER &Y
LNSGDQ T HIfSd fur oItdT 8, 9 GRANDSON ! 8 HifSd fopar wram?

1. FOBMCRNM
2. FOZMCRNM
3. FOZMCTNP

4. FOZMCRNP

Correct Answer :-

o FOZMCRNM

31) What major status did India gain on May 18, 1974? / 18 1=|€, 1974 B Waﬁwmaﬁfﬁm T
Yr?

1. Nuclear Power / UXHIU] e
2. Republic / 70T
3. Highest populated country / gafe JTETe! ardr o2

4. Sovereign State / THTIT U I

Correct Answer :-
« Nuclear Power / UXHIY] RIES]

32) Complete the series choosing the missing number: / o J&AT JIP &l G| U PIfoTT:
11,12,17,18,23,24,

1. 12

2.29

3.35

4. 30

Correct Answer :-

« 29



33) Complete the series choosing the missing number: / &l Jq= AP m G| PR ?ﬂﬁl’l'{:
6,13,28,59,

1. 122

2. 118

3. 120

4. 121

Correct Answer :-

34) The series given below contains a sequence of numbers. Identify the incorrect combination: / = a TI‘{
s §, T=sil &1 U B IURIT 3| Tad "o Uganfu:

0, 8, 24, 60, 120, 210

1.24

2.0

3.8

4. 120

Correct Answer :-

35) The series given below contains a sequence of numbers. Identify the incorrect combination: /T'ﬂ% Eﬂ TI'&F

yaar H, W1} BT TP HH SUTRIT & | T A Uganu:
1,8,27,64,125,215

1.215

2.1

3. 125

4. 64

Correct Answer :-

e 215



36) Who among the following is a maestro of Sarod? / ﬁ"}lﬁf@ﬁ A9 B '\‘Iﬁﬂ' & Il ??
1. Nikhil Ghosh / g oy

2. Amjad Ali Khan / 3{HSIg 3fcfl @M

3. Alla Rakha Khan / 3¢ X1 QT4

4, Hari Prasad Chaurasia / Bﬂ‘ Udlcq fh?ﬁltﬂ

Correct Answer :-

« Amjad Ali Khan / 3HSg 3{ct @

37) Dr. Raja Ramanna has distinguished himself in the field of / STaex IS IHAT A WG Hi
L &= o wfafya fran 8:

1. Horticulture / STTATHT

2. Agriculture / ?ﬁf

3. Writing / SECR

4. Nuclear science / IRTITUlﬁﬁIW

Correct Answer :-

e Nuclear science/mﬁﬁﬁ

38) Complete the series choosing the missing number: / U =T AP WT G| T W=
400,441,484,

1. 535

2. 530

3.529

4. 527

Correct Answer :-

e 529

39) Select the option that is true about the Statements and Conclusions given:
Statements:

No coats are shoes

Some sandals are not shoes

Conclusions:



I. Some sandals are coats
II1. All coats are sandals

/ 39 famey &1 9g= Fifere sife faw e Hy=T 3R fAewul & 9 & 9dl 8:
HY:

I3 BIc ofd T o

o 50 4 T ®

o

1. $O dsaA dIc g

II. 9} P dsa §

1. both conclusions I and II follows / FT5HY 1 3R 11 G SIIERUI HRd &

2. only conclusion II follows / A fASHY 11 TRV BT §

3. only conclusion I follows / HId fHY [ 3ITRVI HRAT §

4, neither conclusion I nor conclusion II follows / - Eﬁ ﬁ’lﬁﬂh GﬁT - Eﬁ ﬁw 1T 3TIR0T P %

Correct Answer :-

« neither conclusion I nor conclusion II follows / 1 B fAth® 1 3R 1 8t el 11 3/7RUr %l §

40) The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the / o & AR 3&IY =
fau e &1 ud® 3ieR ) Genfed far mar 81 g & fRwfur & fore 39 faweu &1 au= Fifve st
T3 gRT 31eRY & TE hH P a8

AEHRGN
123456
1.6,1,5,3,4,2
2.5,3,1,4,2,6
3.4,1,5,3,2,6
4.3,1,6,5,2,4
Correct Answer :-
¢ 3,1,6,5,2,4

Topic:- Mental Ability and Mental Aptitude

1)



1.5 1
The sides of a triangle are in the ratio o 5 - = ; and its perimeteris 155 cm. What is the difference
B () . | .
between the smallest and the largest sides? ECUE: T HAT 5° g i ; AT H & R 3gdr

TRATT 155 THT | oT€dd AR Apood HABT & & a%?l%ﬁa‘d?ﬁ%?

1. 60 cm / 60 THT
2. 45 cm / 45 T
3. 100 cm / 100 T

4. 90 cm / 90 THT

Correct Answer :-

e 45cm /45 9t

2) Inthe sequence shown below, which figure comes next? J=rr 83 T A #, e .':ITIT:H?T Hia dr
HEEIR

0ee aee OO 000
Ce0 L Jole L Jel _Jeole)
Cee ole] ol 1 oL 1

ole]
eOe
ol




Correct Answer :-

00
ece
e
3) 1 1
Aclerk wnrkz-‘l; hr in the morning and EE hr in the afternoon. For how many hours does she work
eachday?iwﬁlﬁmmﬁ4%ﬂt mm#zgﬁmmm gfct fa=T a5 ot
°E F T o7
6
1. 4
g
2.
o2
4
3.
3
4
4.

4) If the following two squares shown below overlap, which one of the following options is formed? / AT

e &1 oo foefg 57 £ar BFa & O &l a1 s aeey aoar &

BE | =L
Tﬂ;]]]} il

%H—T
o




o [f 3

4.

Correct Answer :-

5) Inthe sequence shown below, which figure comes next? /AR B TR e & 3l 3-'1@% i dr
AT

| el "J

1 it m w



]

Correct Answer :-

-

6) The average age of class A with 20 students is 16. The average age of Class B with 20 students is 15
and the average age of Class C with 20 students is 17. Find the average age of class A, B and C combined.

/ 20 BTAT & 1Y HET A DI 3 AT 16 T 1 20 BT & TTY HET B BT 3N Mg 15 § 3 20 B &
Y H&T C DI 3 3G 17 81 BET A, B 3R C Pt Wgad § 3fd 3mg F1d B

1. 15yrs / 15 99
2. 16 yrs / 16 A8
3.13 yrs/13a'5f

4. 14 yrs/14a'5f

Correct Answer :-
« 16yrs/16 a'ﬁf

7) Three friends A, B and C start running around a circular stadium and complete a single round in 24,
36 and 20 seconds, respectively. After how many minutes will they meet again at the starting point? i

S A, B 3R C TP MATHR WRISTH & T gred 3 3R TP GRT TFB HUM: 24, 36 3R 20
I$Hs d Bd ¢ | fra firFe a1g at yR=amedt fag wr frda

1. 12 minutes / 12 fFe
2. 5 minutes / 5 e
3. 3 minutes / 3fiFe
4, 6 minutes / 6 e

Correct Answer :-



« 6 minutes / 6 A

8) Radha and Sangeeta together can complete a piece of work in 10 days. Sangeeta and Poonam can
complete the same work in 12 days, while Radha and Poonam can complete it together in 15 days. In how

many days can Poonam working alone complete the task?/ﬂﬂTGﬁTWﬂﬂTﬁWﬂTﬂwmﬂﬁ 10
&= #f 2 gt €| Wiftar 3R 70 S &rd &Y 12 Y o yuf = It &, Srafes e ok v
S T 1Y 39 15 AT ° quf w7 Iavelt & | [0 o1 1 srdha fpan i1 o ot w2 gadt 32

1. 64 days / 64 &
2.37 days /37 fad
3. 40 days / 40 f&

4, 56 days / 56 faq

Correct Answer :-
« 40days/ 40 faA

9) Dilip picks 19 cards from a pack of well-shuffled cards of which ten are red and nine are black. If there
are twice as many hearts as clubs; and thrice as many diamonds as clubs; find the number of spades in the

set /AT A B RE AW I F I V1o A, S A gu ara g iR A FrA g1 A U= &
g,ﬁ@a?u%ﬁaﬁﬂﬁ%)aﬁ?&%uﬁﬁ@%uﬁﬁ?ﬂqﬂmﬁa‘r@zﬁw%uﬁﬁﬁwm
|

1.6
2.7
3.5

4.4

Correct Answer :-

e 7

10) Find the value of (12 x 12) +(2 x 12 x 15) + (15 x 15) / (12 x 12) +(2 x 12 x 15) + (15 x 15) PT HIH JATd

Hiforg|
1. 529
2. 629
3. 429

4.729

Correct Answer :-



e 729

11) In a group of 15 workers, 5 are good at both plumping and wood work, 3 workers are good only at
woodwork, and 3 are not good at both. How many of them are good at plumping? / 15 yfirepl & qHqg Hs
siftres R 3R 1o & 1 a1 & 3D §, 3 4T Fad 16 & &1d 7 3D € 3R 3 a1 drd
o oy T8I 81 3779 & i) ® fopam o &2

1.5
2.9
3.7

4.4

Correct Answer :-

12) The number of times 646 is divided by 81 so that the remainder is less than 81 is: / 646 &l fpal IR

81 3 fauifora foran wirar @ AR 7% Auwa s1 A Fa
1.6
2.7
3.9

4.8

Correct Answer :-

e 7

13) In 10 years, A will be twice as old as B was 10 years ago. If A is now 9 years older than B, the present

age of Bis: / 10 TUI #, A 10 79 Yd 9Tt B P 3T BT GRIAT 81 S| AfS 3ft A, s A9 qf gsT@ dl B
P qIHT 3TY B:

1. 37
2.41
3.35

4. 39

Correct Answer :-



14) If each side of a square increases by 6 times, then the area of the square increases by: /!Tﬁ' Udh Cok

TP YT 6 TAT 9P 9¢ Al 8 Al T BT EAFA P Sedl o:
1. 12 times / 12 7T

2. 36 times / 36 T[T

3. 9 times / 9 T[T

4. 30 times / 30 T[T

Correct Answer :-
« 36times /36 Tl

15) The population of a city increases by 4 % every year. If the population this year is 6,24,000; then the
population of the previous year was ./ T XER B} TGS TP 99 4 % A gedl 81 afe 39
v Ug SIS 6,24,000 B N FUa ad F} SIS il

1. 5,99,040
2. 6,20,000
3. 5,80,000

4. 60,000

Correct Answer :-
e 5,99,040

16) Seeta and Geeta are twins. The average age of their family, which consists of a mother and a father, is
23 years. If one twin is excluded, then the average age of the remaining three members, 4 months hence,
will be 27 years. What is the age of father, if he is four years older to the mother? /?ﬁ'ﬂT 3R wfiar ﬁgaT %.I
S URAR B 3N 3R] 23 99 & Foraw T wrmar iR v fuar wnftre 81 afe ve Jeai &t sr@
o fear =T at 4 7R vyt A AT Tt @) oid oy 27 a¥ Rt R e AT A IR af a3 §
<t forar ot sy w32

1. 44 years / 44 Gl
2. 36 years /36 a’ﬁf
3. 40 years / 40 a'ﬁf

4. 32 years /32 GL

Correct Answer :-

e 36vyears/36 a’ﬁf



17) Tap Afills a tank in six hours while Tap B fills the same tank in four hours. Both the taps together will fill

the tank in ./ TP EHI DI WA T 96 A D1 D °HE A ¢ Tdid a0 B B ST St Bl WRAH
R °e A & | G 9 Sl B Th 1Y CRItga

1. 2 hrs 40 min / 2 ¥¢ 40 e

2. 2 hrs 24 min / 2 °¢ 24 e

3.3hrs/34¢

4.5hrs /5 Gc

Correct Answer :-

« 2hrs24 min/29¢ 24 fiFe

18) Suraj purchased a telephone for Rs. 1,760 and sold it to Sibin at a discount of 25 %. How much loss did

Suraj have onthesale?/W% 1,760mmwé?ﬁﬁﬂ@ﬂmeﬁvaﬁﬁﬁ=rﬁzs%aﬁww
o9 fean| fasra R g3 & feat g1 8§82

1. Rs. 440 / 440 ¥UT
2. Rs. 360 / 360 $TY
3. Rs. 540 / 540 $TY
4. Rs. 600 / 600 TTT

Correct Answer :-

« Rs. 440 / 440 T

19) A car travels its first 100 km at 60 kmph and the next 100 km at 50 kmph. What will be the approx

average speed of 200 km?/WTﬂ'\"Wﬁqﬂa 100 fpHY TR 60 fopft Uf HeT 3R AT 100 fHFHI TR 50
oY wiar T 3 et 31 200 fFeht St @ sia =ra «am gfl

1. 55 kmph / 55 fopHt Ufd der
2. 56 kmph / 56 f&H! Ufd ger
3. 45 kmph / 45 foH Ufd geT
4. 50 kmph / 50 foH Ufc geT

Correct Answer :-

« 55 kmph / 55 foH! Ofd et

20) The present ages of three persons are in the ratio of 2 : 3 : 5. Ten years ago, the sum of their ages was

30. Find their present ages./?ﬂqw%lﬁaﬂa?&rmangz :3: S%G@Wﬁél waﬁqﬁmﬁeng



DI TRTH A 30 UTI IDT GAHT 3T DI JTd B |
1. 15, 30, 45

2.12,18, 30

3.6,9,15

4.3,6,9

Correct Answer :-
e 12,18, 30

21) A man had two cell phones. He sold one for Rs. 4,000 at the loss of 20%. In order to make profit of 20%
on another cell phone of the same kind, what should be the selling price of that phone? / Tdh e & S

31 AT B 81 ST TP Bl 20% DI FT & A1 4000 YA § 39 37| WA THR & R AT EH W
20% ATH U4 & 1T 39 Wi &1 faswa e fosamn gim anfewe?

1. Rs. 6,000 / 6,000 TY
2. Rs. 8,000 / 8,000 SUY
3. Rs. 10,000 / 10,000 ST

4. Rs. 5,000 / 5,000 ST

Correct Answer :-

« Rs. 6,000/ 6,000 ST

22) By selling a pre-owned scooter for Rs. 2970, a man loses 10 %. To get a profit of 20 %, at what rate

should he sell his scooter?/qﬁﬁﬁﬁmﬁWﬂ'ﬁzwomﬁWWﬁﬂﬁ 10%3&3Tﬁ
Bl 81 20% ATY YT - & T I 3UA Wper Fi fHT x W I Tfge?

1. Rs. 3960
2. Rs. 3300
3. Rs. 3900

4. Rs. 3600

Correct Answer :-

¢ Rs. 3960

23) A can do a work in 6 days and B can do the same in 4 days. Both of them finish the work together and

get Rs. 300. What is the share ofA?/AwmﬂﬁGﬁﬁmm%éﬁTmeaﬁ4ﬁ:ﬁﬁm
ol g1 S BT B TP 1Y JHTG Hd € 31X 300 YA YT Hd & | A DT fgar fpa-n g2



1. Rs. 150 / 150 0
2. Rs. 180 / 180 $TY
3. Rs. 200 / 200 $TY
4. Rs. 120/ 120 394

Correct Answer :-

« Rs.120/120 %00

24) If x% of x is 25, then 'x' is equal to: /ﬂﬁ' X BT x%, 25 %, v _% RIS %:
1. 50

2.40

3. 100

4. 60

Correct Answer :-

25) Rashmi is twice as old as Resham was two years ago. If the difference of their ages be two years, then

what is the present age of Rashmi?/mﬁéﬂgﬁaﬁﬁﬁlﬁ Qﬁ,ﬁwméﬂgﬁal
gfe 3P 3T BT 3R &) 9 § ot I Y adur oy fpait @2

1. 10 years / 10 9%
2. 8years/ 8 G
3. 9years/95|'5f

4, 6years/65|'5f

Correct Answer :-

. 6years/65|'5f

26) In a school, there are three sports teams. There are 23 players in the basketball team; 20 players in the
hockey team; 25 players in the football team. Among them, if 16 play hockey and basketball; 17 play hockey
and football; 15 play football and basketball; and 10 play all the three games, then how many players are

there in all? / U faerery ¥ Wa & 19 ¢d & | IRbeard ¢d A 23 f@arS) & 20 RSt gfal qa A S,
25 fRATS Bedid oo § &1 599 A TS 16 BT 3R TRPedld Wead §; 17 gTH! 3R peaid Wad g;
15 Pedld 3R Tbeaid Wad &; MR 10 T4t §9 @a Terd & @ $a fra e 82

1. 50



2.40

3.30

4. None of the above/mﬁaﬁéﬁ

Correct Answer :-
e 30

27) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 7 33 T 9R val & 9 R 33 T va & S 9w o 91 ve A8 82

Helene
Leimkugelstr. 13,

SchoPpenstedt, 38170

(i) Helene
Leimkugelstr. 13,

SchoPpenstedt, 38170

(ii) Helene
Leimkugelstr. 13,

SchoPpenstedt, 38170

(iii) Helene
Leimkugelstr. 13,

SchoPpenstedt, 38170

(iv) Helene
Leimkugelstr. 13,
SchoPpenstedt, 33170
1.1v

2.1



3.1
4, i1
Correct Answer :-

o iv

28) When asked about age, a person replied that my age is a LCM of 2, 3, 3, 6, 12, and 36.
Find the person’s age. / 3 & fauq ¥ Y& W1 WR U& Afdd A SR fgar fe At emyg 2, 3, 3, 6, 12,
3R 36 T AYAH JHTUGH & | 39 HAfa Pt Mg Td B |

1.72
2.54
3.36

4. 18

Correct Answer :-

* 36

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / T &Y TE @e #, 3&RY 3R B3l ®1 v HH AR &1 T Yo vgEne:

i.tuioe2035eoiut
ii.tuioe2035eo0iut
iii.tuioe2033eoiut

iv.tuioe2035eo0iut

4. iii

Correct Answer :-

30) Find the average. / 3Nud Referd |

83, 85, 87,89,91 & 93



1. 87
2. 88
3. 86

4. 89

Correct Answer :-

o 88

Topic:- Science and Simple Arithmetic

1)

In the given figure, 'O’ is the centre of a circle and reflex ZAOB = 2209, then

/ACB=___. | Gu 31w &= &, '0' gcd &7 &g ¢ 3R gfdadf 408 = 2200 §,

dl LACB=___

ey
\ /\\ /
NG

1. 85°
2. 70°
3. 75°
4, 110°

Correct Answer :-



AB ||CD and EF is the transversal Find'x'. [/ AB ||cD 3T EF ds mar g1 x =
Al AT HrfaT)

E
e \,_“4“ 10 -
x+ E{IX
C = V‘ = D
E
1.45°
2.50°
3.75°
4. 60°

Correct Answer :-

e 50°

3 Find x_if ( 2) 4x( 2y =( By=-1_ 1 g () 4x( 2y =(By=-1 v x 1 #5=7 7
ind x. i (29) 1(29} = 29) 3 (29) X( 29} —':29]' : X
HITIT |

1.-1

2.-2

3.2

4.1

Correct Answer :-

o 1
4)
a[3375 15 , a[3375 16
Evaluate: | ——x — [ |=2=« =& gaT HIaT:
A 512 7 s 512 5
1.2

2.6



3.3

4.8

Correct Answer :-

e 6

5) Each stomatal poreis guarded by: / U@ ¥t fg v & gR1 ¥fea giar &:
1. Subsidiary cells / 70T BIfRrepTN
2. Epidermal cells / ST BITRBTSA

3. Trichomes / Ej’{ﬂ'ﬂ'ﬁ[
4. Guard cells / I8 HITRABII

Correct Answer :-

e Guard cells / X&[h Eﬁﬁlﬁ\?ﬁ

6) Intercellular connections in plantcellsarecalled_ . / UlqU ﬁﬁmaﬁﬁ 3T ﬁﬁﬁ?
WA Pgad 8

1. microfibrils / & AP

2. plasmodesmata / Sildsod dg

3. middle lamella / HEH UEfereT

4. tonoplast / [ARISIR

Correct Answer :-

« plasmodesmata / SHIge dd

7) The perimeter of a trapezium is 56 cm and its non-parallel sides are equal to 13 cm

each and its altitude is 12 cm. Find the area of the trapezium. / J9<d agys &1 9fHAT 56
T, B 3R SHST SRIHTAR YOI 13 AHY. & TRTER € SR SUP! Ha1g 12 9. 8| 9Hds agUs &1 &awd
Td BifE|

1. 200 cm? /200 912
2. 180 cm? / 180 92
3. 150 cm?2 / 150 92

4.210 cm? /210 92



Correct Answer :-

« 180 cm? /180 T2

8) The perimeter of a parallelogram is 12 cm. If one of its sides is 3.6 cm, find the other. /

T qHIAR Tgys &1 aRamg 12 9 81 afe suat v Yo 3.6 O ], 9 gt Yo 91a P
1.1.2 cm/ 1.2 G,
2.1.6 cm /1.6 JHI.
3.2.4 cm /2.4 94

4.2.8 cm/2.89H,

Correct Answer :-

e 24cm/2.4 9w

9) The sum of two numbers is 60 and if one exceeds the other by 14, then the larger

number is: / & TSI 1A 60 § R AR T T G A 14 7Y &, ot 9w Fore g
1.42
2.29
3.34

4. 37

Correct Answer :-

10) The compound interest on Rs. 5000 at 8% per annum for a certain period of time is

Rs. 832. Find the time in years. / 5000 U3 &1 Y=RTRT U 8% qTY® Ashqfe Tl &2 UR frad T9g
BT TS 832 FUY 2| Ay B} 0T BT

1% vears / 1% ay
L2 2

E%yea_rs ! 2% ay
2. . r

3.3 years/3aﬁ

4.2 years/za'ﬁf



Correct Answer :-

. 2years/26|'5f

11) The volume of a cylinder is 924 cm? and its height is 6 cm, then the LSA of the

cylinder is: / T 91 &1 3Taa 924 A § 3R 39S FH1s 6 A, B, o 301 &1 vareHy (uryf s
aﬁ)ﬁﬂfﬁ"ﬂ

1. 412 cm? / 412 YR
2. 346 cm? / 346 I
3. 264 cm? / 264 I
4. 468 cm? / 468 T2

Correct Answer :-

e 264 cm? /264 T2

12) By selling a chair for Rs. 630, a shopkeeper gains 5%. How much percentage would

he gain or lose by selling it for Rs. 612? / T% PR TH HUI DI 630 Y & 9 B 5% BT ATH
T FHRal ¢ | AfS gHTER 30 Hul B 612 TUA B 3 a1 I fpa= ufa=ra ary ar g1fy grfi2

1. 3% gain / 3% Y
2. 2% loss / 2% 81
3. 3% loss / 3% g1

4. 2% gain / 2% <Y

Correct Answer :-
o 2% gain /2% <Y

13) Find the measure of the largest angle of a parallelogram, if one angle is 30° more
than twice the smallest one. / T THIGR agysl & T4 TS HIU &1 WY 19 Hiforg, Tfe Tad I87
PIUT, JTH BIC BV & G A 30° TSI T |

1. 110°
2. 130°

3. 100°



4. 120°

Correct Answer :-

14) Three jars were marked A, B, C. Some snails were introduced in to A, some algae in to B and some
snails and algae into C. Which of the above 3 stay longer? / Gik| ﬁlé’f & ﬂ@ﬁa‘ﬁ AB,C AH fearmam A
H 50 Y, B ¥ $© AaTd 94T ¢ ¥ 50 1Y 9 $° A91a ufap fey 1w Sefaa A A Y
SHfEP TG qP T2

1.Jar B/ YSI B
2. JarC/YSIC
3. All will perish / T+ fd®BRIT 81 ST

4. Jar A [ USTA

Correct Answer :-

e JarC/YSIC

15) Identify the biotic factors that damage food materials during storage. / 31 cicipkarcakal Ugd+d
) ot @Il AR B HSRUI & GRI & ugamd 71

1. Rodents, birds, animals only / ﬁl'c% W, q&‘ﬁ , U]

2. Enzymes present in the food materials only / 4 @ el o Sufufa TgH

3. All the above / B'Cléfﬁﬂlﬁ

4. Insects, worms, bacteria, yeast, moulds only / Waﬂ‘c’ ?ﬁ[ GﬂTﬂUl ?@iﬂ{ 1?b_lZQ_c{

Correct Answer :-

« All the above / B'Cléfﬁﬂlﬁ

16) Which of the following mixtures can be separated into its components using chromatography? /

quiafaet ST IughT #ed g fAufafad fryon & 3 #14 3= ges! H gy far o aoar g2
1. Spirit and water / FRURE U1 S/@

2. Milk and sugar / G TYUT TiT

3. Sea water / GHgI oTd

4. Blood sample containing medicines / it afthiferd Yo THAT

Correct Answer :-



» Blood sample containing medicines / St gfeferd Iad THAT

17) The unit of current is: / YIRT | Eﬁﬂg = ﬁ?ﬁ %:
1. Ampere / Q'@'QT

2. Coulomb / W
3. Volt / e

4. Watt / dic

Correct Answer :-

« Ampere / TR

18) When electrodes are placed in water and electric current is passed through it, oxygen bubbles are

formed near the /wsﬁa@gaﬁwﬂﬁwm%amwﬁﬁguaﬂmw%aaﬂaﬁﬂ%,
at sifefte & geaget & gty fAffa g 81

1. both the terminals / G I}
2. positive terminal / Y-THD R
3. edges / fHIRS

4. negative terminal / BUTHD R

Correct Answer :-

* positive terminal / YATHD R

19) On the fifteenth day of the month, the moon is not visible. This day is known as: / HTg & th% ﬁT'T,
TSI e gl 21 59 fed &) A U & s e @

1. Full moon day / GfofT feaw (3@ I )

2. New moon day / 3G fead (G 3)

3. Half moon day / 3% 9% faa¥ (315 47 )

4. Crescent moon day / J4AM 9% fead (pebe T 9)

Correct Answer :-

o New moon day / 3HTaw feaq @1117-[?;)

20) A body is said to be in state of rest if it: / U @1 fasmarawT & wgarem, afe gs:



1. Change its position with time / JHY & 1Y 30+ fRYfd Jeadi 8|

2. Moves with equal speed to another moving body / §¥|§ TTiaRite Ferr & a1y A 71 & =edn %I
3. Moves very slowly with time / JHI & iy - Terdr %I
4. Does not change its position with time / HY & 1Y 3o FRufa o afvad= 78t Srar g

Correct Answer :-

» Does not change its position with time / HI & g1y U fRUfa o trﬁa?ﬁ '_'Baf hdl %l

21) Xylem and phloem are ./ SIIgclH @‘Wﬁ@_%l
1. supporting tissues / Hg D Hdh

2. growing tissues / 349 SHdb

3. protecting tissues / & SHdd

4. conducting tissues / eI Hdh

Correct Answer :-

 conducting tissues / DT HdPh

22) Kaleidoscope is based on the concept of: / @Eﬁﬂ?ﬁw SR TR ST T 3:
1. Reflection / GRTH

2. Multiple reflection / E@ﬁ‘lﬁ BRERE]

3. Refraction / 30dd

4. Dispersion / UHIuH

Correct Answer :-

« Multiple reflection / E@ﬁ‘ﬁ[ WRIGd

23) The Wild life Protection Act was enacted in the year ./ T Sita=T "eor Srferfray oy
# srfafrafira fasar war un

1. 1962
2.1972
3.1974

4. 1968



Correct Answer :-

24) Compounds which destroy or arrest the growth of pathogenic bacteria are called ./ ifire

St TSI SHaTY] & fAhTH B 98 a1 T $d o, Fead gl
1. carbohydrates / W@gﬁ'

2. phospholipids / BRGNS

3. antibiotics / Ufaoifdd

4. vaccine / CIpT

Correct Answer :-

« antibiotics / Elﬁam

25) Name the raw material that gives energy for animal cells? / 3 = °Id $T AT qdigy Eli W-‘{[Gﬁ
1 DIRMDTSA P Helf UG BT 32

1. Food / HIoH
2. CO,
3. Water / 9d

4. Sunlight / 8 T YT

Correct Answer :-

e Food / hice)

26) Which of the following is a factor of 12x2 - 10x +2? / =T & T TN 12x2 - 10x +2 UGS &2
1.(3x+1)

2. (6x+ 1)

3. (6x - 2)

4. (3x-4)

Correct Answer :-



The mean of 5 numbers is 14. If one number is excluded, then the mean of the remaining numbers becomes
14.5. Find the excluded number. / 5 AT HT AT 14 § | TP WS B! P16 ¢ W AW HEAT3H T 7180
14.5 g1 fATelt 7€ T ga Fifene|

1. 15
2.10
3.12

4. 18

Correct Answer :-

28) Find the remainder when (3a% + 5a + 7) is divided by (3a - 1)/ (322 + 52+ 7) @I (3a- 1) § U ¢4 WR

AYGd JTd PIfoC|
1.5
2.3
3.9

4.8

Correct Answer :-

4.0.8

Correct Answer :-

« 0.8

30) Cell in the human body which is amoeboid in shape is: / Wﬁ?ﬁﬂ'ﬁ'ﬂﬁﬁmﬁﬁ kG
TP P &:

1. Nerve cell / RIEEAKAIEEA!



2. Red blood cell / T Y& DHITRAHT
3. White blood cell / 3 Iad HIRABT
4. Muscle cell / U= BIRTepT

Correct Answer :-

« White blood cell / §d Iad HIRABT



